—0v2

10

Ratl

+

: 0.05F -+~ otk b FHEL

: 0.9
-1 2 3
10 1 TP%&(PCAEg%eanmn%9

—=— DQM_TT__mkFit-DQM_old132

—— DQM_TT__mkFit-DQM_new132

g R
X’ 8O- e X’ 80
2 BOF - e < |
s F o F
Vv 40:— """"""""""""""""""""""""" \" 40:— """"""""""""""""""""
P s 11 R e e 20F -+ TR
#-’*FJ"";""'G' *#++ Of------- L ++'+*+a;*4+'+'+++"":"' """""
: : _20'_ ....... , ......... , .........................
ST IR I 1 - RS T
~60f - L1 EER R PR T ITRS
-80F------- Fhf-oe b
E 9_100: bl 1 IRETT| 1 'RETT| EEERTIT
L =] 1:— ------ T 14 T: 4+ 4..4 [ .
r 24 F
H 0.9F--+--

.95 : 0.8 :
-1 2 3 -1 2 3
10 1 TPl[g)T (PCA f%)obeamlinép 10 1 TPl[g)T (PCA f%)obeamlinép

<op/p. > (%)

..................................

.......................

HRES

—1 ; I : 2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


